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ﬁ Easter Addition and Subtraction =

Solve the following word problems. \ 4

Peter has 10 Easter eggs. He gave 3 of his Easter
eggs to his sister. Later, he found 5 more in the
garden. How many Easter eggs does Peter have
now?

Emma has 7 chocolate bunnies for Easter. Her
friends gave her 4 more. After eating some, she
has 6 left. How many chocolate bunnies did Emma
eat?

There are 15 Easter eggs in a basket. 6 are blue,
the rest are pink. After some kids took 4 pink eggs,
how many pink eggs are left in the basket?

John found 8 Easter eggs in the morning. He found
7 more in the afternoon but lost 2 when he was
playing. How many Easter eggs does John have
now?

There were 20 Easter eggs in a basket. 7 were
taken by kids and 5 more were added later. How
many Easter eggs are in the basket now?

Emily found 12 Easter eggs and her brother found
7. They lost 4 eggs. How many Easter eggs does
her brother have now?

Lucy found 8 Easter eggs in the morning. In the
afternoon, she found 7 more. But she lost 2 of them
while playing. How many Easter eggs does Lucy
have now?
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